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Note :This paper contains Fifty (50) Multiple-choice/Assertion and Reasoning/
Matching questions/carrying TWO (2) marks each. Attempt All the

questions.
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1. The statement scale of 1" = 1 Mile 1.

is equivalent to which of the

followiﬁg R._F. scales :
(&) 1: 33,360

(B) 1. : 43,360

(©) 1:53360

D) 1 : 63,360

9. Which of the following is the Rabi 2.

Ct'op of India ?
(A) Paddy

. (B) Pulses
(C) Tea

(D) Coffee |
- Geography-IT 3
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‘KHETRI’ known for ‘Copper
Mining’ is situated in which state

of the country ?

(A) Rajasthan

(B) Gujarat

fC) Madhya Pradesh

(D) Bihar

Which type of earth movement 4

create mountains ?

(A) Isostatic

(B) Plutonic

{C) Eustatic

(D) None of the above

With which of the following,

thunderstorms are associated ?
(A) Alto stratus cloud

(B) Nimbo stratus clc;ud

(C) Cﬁmulo-Nimbus cloud

(D) Strato-Cumulus cloud

Geography-II
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The land form feature of “FIRN” is -

associated with :
(A) Fluvial deposition

 (B) Glacial compaction and

recrystallisation
(C) Wind accumulation
(D) Coastal accumulation

Which one of the following is a
distributory of the River Ganga ?

(A) Tiesta
(B) Hoogly
(C) Kosi

(D) Ghaghara

The benchmark on toposheets refers

to which of the following ?
(A). An arbitrary marks for height

(B) Marks to show differential

height between two points

(C) Marks to show the elevation of

a place above sea level

(D) None of the above

Geography-I
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10.

11.

‘Aurora’ is a phenomena which is
observed in which part of the

atmosphere :

(A) Troposphere
(B) Stratosphere.
(C) Ionosphere

) | Mesosphere

The appearance and disappearance

~of Dinosaurs is related to which of

the following geological era ?

(A) Azoic

(B) Palaeozoic

(C) Mesozoic

(D) Cainozoic

In which of the given projection, the

- pole is represented at the centre :

{A) Cylindrical

(B) Sinusoidal

(C) Gnomonic

(D) Equal area

Geography-IT
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12. Which of the following port is

13,

14,

located to the North of Jamnagar ?
(A) Kandla

(B) Bhavnagar

(C) Dahej

(D) Silvas

Photo grammetry is :

(A) An art and science of making
measurements from aerial

photographs

(B) A method ._for . solving

geometrical problems
(C) Both (A) and (B)
(D) None of the above

Steep slopes are represented on
toposheets by contour lines which

are :

(A) Evenly spaced
(B) Closely spaced
(C) Widely apart

(D) None of the a-bqve

Geography-11
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15.

16.

17

Of the various indices, which is the
combined total of children and aged
population as percentage of adult

population :

(A) Age pyramid

(B) Old age

(C) S’(;,ation_ary, pOpqlation
(D) Dependen.cy Ratio

Coriolis force would be maximum on

which of the following latitudes ?
(A) 90°

(B) 66%°

(C) 23%°

(D) 0°

Which of the following is a three-

dimensional representation of data ?
(A) Bar - |

(B) Circle

(C) Sphere

(D) Multiple Dot

Geography-II
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18.

19.

20.

China was connected to Sikkim-

-through which of the following

mountain pass :
(A) Jozila

(B) Nathula
(&) Khyber

(D) .Rohtang

‘Dry and Wet Bulb Therometer’ is

an instrument used for measuring

which of the following weather

parameter ?

(A) Temperature
(B) Humidity

(C) Cloud intensity
(D) Pressure

Which one of the following is the

youngest mountain range of India ?
(A). Aravalli

(B} Eastern Ghats

(C) Western Ghats

(D) Himalayas

Geography-11
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21,

29,

23.

Geography-1I

Atacama De.sert is located in. :
(A) Africa

(B) Asia

(C) South America

(D) Europe

The occupational structure of
population is best represented by

which of the followi_ng diagrams ?
(A) Pie chart |

(B) Bar gré.ph

(C) Sphere

(D) None of the above

Diamonds and computer chips

are examples of which type of

industries ?
(A) Sunrise-
(B) Sunset
(C) Footloose

D) Weight loosing
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24. Hamlets have a population of which

25.

- 26.

of the following persons :
(A) 1to 10

(B) 11 to 100

(C) 101 to 500

(D) 501 to 20,000

Which tribal combination is seen in

the state of Meghalaya ?.
(A) Khasi — Mizo
(B) Garo — Khasi

(C) Naga — Mizo

D) Khasi — Naga

What is the average rate of Albedo

on the earth ?

(A) 25%
(B) 30%
(C) 35%

(D) 40%

Geography-II
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27.

28.

Geography-II

The ocean current Benguela is

noticed in :
(A) Pacific Ocean

(B) Indian Ocean

- {C) Atlantic Ocean

(D)} Arctic Ocean

Births ~ Deaths + In-Migration —  28-

Out-Migration is known as ............
(A) Natural growth of population

(B) Attual growth of population

-(C) Negative growth of population

(D) Positive growth of population
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29. Floods and droughts are the two

30.

extremes of which of the following

cycles. ]

(A) _Eco}ogical
(B) Nitrogen
(C) Carbon

(D) Hydrological

Railway is the major means of long
distance internal transport in which

of the following country ‘?
(A) Bangladesh

(B) Nepal

(C) India

(D) Bhutan

Geography-11
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31.

32.

The following statements are related
to Indian Agriculture state which

of them are true ?

(?) India has one of the world’s

largest cropped area.
(@) Cmpping pattern is dominated
by cereal crops. |
(iii) The average éize of Indian fam

holding is too small for several

agricultural operations.

(A) () and (i)

(B) (r{i) and (i)
©) G) and Gii) -~

(D) All of the above

El Nino is :

(A) Sea storm
(B) Tropical disturbance
(C) A warm ocean current

(D) Another name of typhoon

Geogmphy~ﬁ
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33. A sharp edged glacially eroded

34.

ridge is called as :

(A) Arete

- (B) Col

(C) Horn
(D) Rock basins

The ro(_:ky outcrop of whiph of the

divide befween Narmada and Tapi

rivers of Gujarat ?
(A) Vanmala

(B) Rajpipla

(C) Ratanmahal

(D) Satpura

Geography-ﬂ'
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35.

(@)

{b)

(c)

(d)

(e}

Match the following :

Ports Special Features

Kandla (1) Inland Riverine Port

Kochi @) | Located at Mouth of
Lagoon

Vishakha- 3 Artiﬁciai |

patnam

Ko]ka_ta. (4) " Deepest Landlockéd
and Protected Port.

Chennai (5) Tidal Port

Clodés :

@ & ©© @ @

@ @w O @ @ 6

® @O B @ 6 @

© 6 @ @ O @

O O @ @ G @
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36. The net or mesh of mutual

37.

intersecting parallels and meridians
drawn to a certain scale and based

on certain principles is known as :
(A) Graticules
(B) Standard Parallel

(C) Prime Meridian

.(D) Spherical Coordinates

Kuroshio is a warm current which

flows between :

(A) Phillipines to Japan

(B) Indonesia to Philipines .
(C) Japan to China

(D) Sri Lanka to Indonesia

Geography-11
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38.

{1

(2)

®

{4}

39,

Match the follbwing :

Minerals Products
Mica (@ Car Batteries
Manganese (&) Electrical I.nsulator
Copper (¢} Improve thg Quality of
Steel

Lead () Electrical Conductivity
C.odes :

O @ @ @
W @D @ ©
®® © @ @
) @ & @ @
D © (@ @ ®

Which state has the longest

coastline in India ?
(A) Tamil Nadu

(B) Gujarat

(C) Andhra Pradesh

(D) West Bengal

Geography-IT
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40. Which of the following states of 4. oL 53 UAYU g8, YR, ALALALSL

41.

India has_been affected by all four
néturai disaéters drought, ﬂood,
cyclone and earthquake ?

(A) Maharashtra

(B) Gujarat

©) Odisha

(D) Tamil Nadu

and

Equity, sustainability

productivity are the pillars of which .

type .of development '7 |
(A) Sustainable

(B) In&ustrial

(C) Human

(D) Resource

Geography-11
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42. Accumulation of material by the  42..

river at the base of‘foot hill is

known as :

(A) Delta

(B) Alluvial Fans
(C) Alluvial Plain

(D) Natural Levees

43. The saturation of vapour pressure 43

reaches a maximum of 1013 mb at

which of the following points ?
(A) Boililng
(B) Melling
(C) Freezing

(D) None of the above

Geography-II - 20
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44. Which one of the following lakes 44 [Grag sy ulax gl a4y QxR

45,

46,

has the largest surface area in the

world ?

(A) Caspian sea

(B) Lake superior
(C) Lake-Michigan-Huron
(D) Black Sea

Which of the following countries
have less than 10% area.as

forested ?
(A) India
(B) Bangladesh

(C) Nepal

. (D) Pakistan

Backwaters, lagoon and beach are
the characteristic feature of which

of the foilo'wing states of India.
(A} Maharashtra

(B) Kerala

(C) Tamil Nadu

(D) West Bengal

Geography-11
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47.

48.

Geography-II

Which of the following are primary

consumers of Ecosystem ?

(A) Herbivores

(B) Carnivores
(C) Ominivores
(D) Decomposers

Which one of the following is the
correct, in terms of ocean areas in

decending order ?
(i) Atlantic
(i1) Arctic

(Zif) Indian

- {iv) Pacific

A) GD), G, Gv), Gid)
(B) Gv), G), (i), (id)
() ), i), Gid), (iv)

D) ), @), @), Gv)
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49. Variability in rainfall, torrential

50.

character, reversal of winds and
ﬂuctuating duration are the
characteristics of which of the

following ?

(A) Westerlies

(B) Trade Winds
(C) Monsoon Winds

(D) Local Winds

Intensity of irrigation is defined

as :

(A) % of area ;Jnder double
cropping

(B} % of well irrigated area to the

net irrigated area

(C) % of net irrigated area to the

net sown area

(D) % of net irrigated area to the

total geographical area
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